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42 533 SN sAFBDY
HE: Qs HESE
Sl MolsolYs (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 1,765,614 1,295,566 470,048
= 1,568,000
< 197,614
01 HIXNHHBHNEELES 1,765,614 1,295,566 470,048
O3YE =g =833 N (NE3) 1,734,614
= 1,537,000
< 197,614
OFY =0 Y=sHH NA(2Y) 31,000
= 31,000
SEEY FEsge 33 NA 192,960 86,400 106,560
308 MtXIEHMSOIH 192,960 86,400 106,560
01 HIXNHHBHEELS 192,960 86,400 106,560
Os289 Fu=olo & 192,960
SESSHEA 2SR (HSAIL) 115,400 86,250 29,150
308 XX EHSOIA 115,400 86,250 29,150
01 HIXNHHNBHNEES 115,400 86,250 29,150
O=Z3SHalAL AL XA 115,400
sXol82el X 358,710 300,526 58,184
J| 358,710
308 XXM SO A 358,710 300,526 58,184
J| 358,710
01 AXHHIYEES 358,710 300,526 58,184
OsXols8&elX& 358,710
J| 358,710
SN sESIXH 832,000 598,000 234,000
= 640,000
< 192,000
308 XtXIEHHSOIA 832,000 598,000 234,000
= 640,000
< 192,000
01 HXNHHBHEELS 832,000 598,000 234,000
OZANE SESXXNEA 832,000
= 640,000
< 192,000
sENEs20S 243t 502,512 502,512 0
= 364,990
=) 137,522
201 ¢4l 10,000 10,000 0
01 At 22l 10,000 10,000 0
OsEHEF20IS 822 MH 10,000
308 XXM SOIA 492,512 492,512 0
= 364,990
< 127,522
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42 533 SN sAFBDY
HE: Qs HESE
Sl MolsolYs (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 At 22l 10,000 10,000 0
OAsHE 882 MH 10,000
M EsY 2483 XI& 237,000 142,200 94,800
= 210,000
< 27,000
308 XXM SOIA 237,000 142,200 94,800
= 210,000
< 27,000
01 AXHHILEES 237,000 142,200 94,800
OMa "= 2435t XI& 237,000
= 210,000
< 27,000
ANeade sE22 X2 78,000 0 78,000
= 60,000
< 18,000
308 MtXIEHSOIH 78,000 0 78,000
= 60,000
= 18,000
01 HXNHHBHEES 78,000 0 78,000
OXEtte ss22 X 78,000
= 60,000
= 18,000
= AsAHEHHEE It 15,000 0 15,000
201 L4l 15,000 0 15,000
03 A2 Z I 15,000 0 15,000
O=&d HAsHEHE &It 15,000
=2 SEYNE 052 s 20 9,000 0 9,000
308 XXM SO A 9,000 0 9,000
01 AXHHBIYEES 9,000 0 9,000
Os= sEHdE Ots=2 s I3 9,000
SAE22e XA 234,695 0 234,695
J| 234,695
308 MtXIEHSOIH 234,695 0 234,695
J| 234,695
01 HXNHHBHEELS 234,695 0 234,695
OsX3g22el X 234,695
J| 234,695
sSEEF0HAMA 49,964,704 79,665,304 A29,700,600
= 2,416,580
s 43,348,000
< 4,200,124
SEQE MHA & HEDF 14,204 11,804 2,400
= 9,080




42 533 SN sAFBDY
HE: Qs HESE
Hel: sSEFFAHAMY (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

< 5,124

201 L4 2,400 0 2,400

01 At 2t 2l 2,400 0 2,400
OsHEQE AlgetdEZ 2,400

308 XXIEHHSOIA 11,804 11,804 0
= 9,080
< 2,724

01 AXHHILEES 11,804 11,804 0
OsHELE M NEXA 11,804
= 9,080
< 2,724

SESAX 243 AY 30,492,000 40,108,000 A 9,616,000
s 30,492,000

403 UHXSHHSA=0l& 30,492,000 40,108,000 A 9,616,000
s 30,492,000

01 X ESHMA=2E L 30,492,000 40,108,000 A 9,616,000
Os=sESHA 243 A 30,492,000
as 30,492,000

AT &2 O0ICIH ALY 179,000 677,000 A 498,000
s 179,000

403 MtXISHH S =0l & 179,000 677,000 A 498,000
s 179,000

01 AXSHMA=2E X 179,000 677,000 A 498,000
OAl= &2 OLOICI AFE 179,000
s 179,000

ANz dE2s ALY 1,467,000 1,161,000 306,000
s 1,467,000

308 XtXIEHHSOIA 1,467,000 1,161,000 306,000
as 1,467,000

01 X HHILEES 1,467,000 1,161,000 306,000
OAlZ A&2s ALY 1,467,000
s 1,467,000

SEAEEEHAAMY 4,410,000 1,470,000 2,940,000
s 4,410,000

403 UHXSHHSA=0l& 4,410,000 1,470,000 2,940,000
s 4,410,000

01 X ESHHMA=E L 4,410,000 1,470,000 2,940,000
Os&Ed s s AAMY 4,410,000
s 4,410,000

SEHOSS HAZZ2 0 LI (MEAY) 195,000 195,000 0

308 XX EHSOIA 195,000 195,000 0

01 HIXNHHBNEES 195,000 195,000 0




4= =73 SN SYFHD
Hu: gs ¥ESE
Sl SEFEORAMA CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Ougltet HOtZd MEZ218 29 195,000
JI=MENEsY 6,800,000 1,490,000 5,310,000
s 6,800,000
403 MtXISHH S0l & 6,800,000 1,490,000 5,310,000
as 6,800,000
01 AXISHH A2 E= 6,800,000 1,490,000 5,310,000
OJIzdgnNs8=s4 6,800,000
s 6,800,000
dE ==23Ne LA 2,407,500 0 2,407,500
= 2,407,500
403 MHXI S E X201 H 2,407,500 0 2,407,500
= 2,407,500
01 X EHHMA=LE L 2,407,500 0 2,407,500
O&HE sE23Xxel =8y 2,407,500
= 2,407,500
=28 sAl =4 4,000,000 0 4,000,000
403 XA SA=0l& 4,000,000 0 4,000,000
01 LRI SH AR 2 & 4,000,000 0 4,000,000
O&=d sA =4 4,000,000
sHU=EXSE 3,471,473 3,387,161 84,312
= 12,500
=) 3,458,973
ST AL 182,000 204,000 A 22,000
307 glz2tol & 182,000 204,000 A 22,000
04 QIZFHALAIH 2 = 182,000 204,000 A 22,000
OsgotMdgas Agu= 10,000
O=RclsetE X0l BHel A 12,000
OsE=SCHY JIEE0LE A 30,000
Od=sl=X SUal = 10,000
Ost=0&d=sgel ZiHsl &It 40,000
Ogt==sgdLge d=30s &It 80,000
SAFSB B 122,386 135,984 £ 13,598
308 MtXIEHSOIH 122,386 135,984 A 13,598
01 AXHHILEES 122,386 135,984 A 13,598
O=g3dgX =348 8 M3 105,689
Osgllzs 82X M3 16,697
sgol otEMEH I XA 261,345 252,175 9,170
308 XXM SOIA 261,345 252,175 9,170
01 AXHHIYEES 261,345 252,175 9,170
Osgeol etdeEd I XA 261,345
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4= =73 SN SYFHD
Hu: gs ¥ESE
ch < [9SSAMY |4 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 51,000
< 15,300
308 XX EHHSOIA 66,300 93,600 A 27,300
= 51,000
< 15,300
01 HIXNHHBNEES 66,300 93,600 A 27,300
OsE=HMXE 66,300
= 51,000
< 15,300
StEAY SH(MEAY) 1,165,000 794,000 371,000
403 UHXISHEA=01 & 1,165,000 794,000 371,000
01 X SHHX2E = 1,165,000 794,000 371,000
OSHISFEMNY 84 685,000
O&F=F 2K 8 & NRIIXIALE 480,000
sSEFSX 182,000 182,000 0
= 140,000
= 42,000
308 XXM SO0l A 182,000 182,000 0
= 140,000
< 42,000
01 IXNHHBNEES 182,000 182,000 0
OsERSAE 182,000
= 140,000
< 42,000
J2EHAZ ALY 4,568 4,717 A 149
= 3,807
= 761
308 MtXIEHSOIH 4,568 4,717 A 149
= 3,807
< 761
01 X HHBLEES 4,568 4,717 A 149
OZ2EHAEMAY 4,568
= 3,807
< 761
stE HE I8 RS AMEX(HEAY) 3,065,000 2,816,400 248,600
403 MHXSHHSA=0l& 3,065,000 2,816,400 248,600
01 X SHHMA=E L 3,065,000 2,816,400 248,600
OJIsd &, ASEZ MIINBANE 25 540,000
Osd&tE I3, ME gl ss8A4 600,000
Ot ZEo| A=FF HEOHS 425,000
OXde AEeC2 S¢== 0188 =83
A 3t 540,000
OXNSESAZ A Madgt =4 360,000
Ozatd 222 & = MEISAIE 600,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SsES2HNFEdH 2AXE 120,000 120,000 0
= 60,000
< 60,000
307 gl2tol & 120,000 120,000 0
= 60,000
< 60,000
02 It HAHE L 120,000 120,000 0
OsZg4daNgdy 2SN 120,000
= 60,000
< 60,000
sSES=SgNY 2435 XA 1,130,000 974,800 155,200
= 565,000
< 565,000
307 glz2+0l & 1,130,000 974,800 155,200
= 565,000
< 565,000
02 HAHFHAANGEEE 1,130,000 974,800 155,200
OsZEssgety g24s8Xd 1,130,000
= 565,000
< 565,000
SESSNANT T4 779,000 566,000 213,000
= 600,000
< 179,000
403 A X EHHS =0l A 779,000 566,000 213,000
= 600,000
= 179,000
01 X EHHMA=LE L 779,000 566,000 213,000
OsEssgatdil+ =4 779,000
= 600,000
< 179,000
Nedeel WERD PEXH 88,500 177,000 88,500
= 75,000
< 13,500
308 X EHSOIA 88,500 177,000 88,500
= 75,000
< 13,500
01 HIXNHHBMNEES 88,500 177,000 A 88,500
OoXgete WHE/Ia 25 XA 88,500
= 75,000
< 13,500
HHSAHH (Y F D) 85,694 85,694 0
JlE 3l 85,694 85,694 0
JlE2&l 85,694 85,694 0
201 Let24E] 19,514 19,514 0
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19,514

41,580
41,580

24,600
6,600

18,000

Off &t 24

19,514
7,964
11,550

41,580

41,580
41,580

24,600

6,600
6,600
18,000
4,200
4,200

3,600
3,000
3,000

01 At 22l bl

00
<+
i

202 Oddl

01 =LHOI LI

OJl=0Hl

KJ
KE
ok
oD

=]
"l
U
ol

1
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<
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Abd 8 A A

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

FIl=s A 143,904,403 147,410,832 23,506,429
= 93,902,207
s 255,000
J| 8,912,855
< 40,834,341

=g e 25t 143,843,309 147,347,738 A 3,504,429
= 93,902,207
s 255,000
J| 8,912,855
< 40,773,247

HEd=sHsY 24,403,720 21,385,821 3,017,899
= 18,211,686
s 255,000
J| 55,000
< 5,882,034

Bz 2 1,443,200 1,443,200 0
= 1,443,200

308 MtXIEHSOIH 1,443,200 1,443,200 0
= 1,443,200

01 AXHHILEES 1,443,200 1,443,200 0
Otz =A 1,443,200
= 1,443,200

dEdsy Jleg = 340,000 0 340,000
s 255,000
< 85,000

403 UHXSHHSA=0l& 340,000 0 340,000
s 255,000
< 85,000

01 HXSHMA2E X 340,000 0 340,000
Ozgd=g Jlgt = 340,000
s 255,000
< 85,000

=I1EHZ2 X& 9,892,263 11,903,256 22,010,993
= 8,424,000
=) 1,468,263

308 XXM SO A 9,892,263 11,903,256 22,010,993
= 8,424,000
=) 1,468,263

01 AXHHBISEES 9,892,263 11,903,256 22,010,993
O®JIZdlg XN& 9,892,263
= 8,424,000
< 1,468,263

FIsSNUM X3 209,821 217,500 AT,679
2 144,704
< 65,117

308 MXIEHMSOIH 209,821 217,500 AT,679




R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
= T47,704
= 65,117
01 AXNSHHBLEES 209,821 217,500 ANT,679
ORIN=sSNUHM K& 209,821
= 144,704
< 65,117
RISUSSSAMEIAXAHR =4 2,899,000 0 2,899,000
= 2,230,000
= 669,000
403 XAtXIHM S K201 ™ 2,899,000 0 2,899,000
= 2,230,000
= 669,000
01 X SHHMA 28X ,899,000 0 2,899,000
ORI satd=eMUlA NJSR LAY 2,899,000
= 2,230,000
< 669,000
SHSZIEMITZ2 0 AtY 127,500 0 127,500
= 100,000
< 27,500
308 XXX SO0 127,500 0 127,500
= 100,000
< 27,500
01 AXNSHBLEES 127,500 0 127,500
O=sgesdE2dI=2 038 AY 127,500
= 100,000
< 27,500
YA =2 KA 2,642,269 0 2,642,269
= 2,032,512
= 609,757
308 XXM S0l A 2,642,269 0 2,642,269
= 2,032,512
= 609,757
01 IXNSHHBANEES ,642,269 0 2,642,269
Ogut e Jatdsdts N2AY 2,642,269
= 2,032,512
== 609,757
XEtd 280l W XA 200,000 200,000 0
308 XX EHHSOIA 200,000 200,000 0
01 IXNHHMBAMNEES 200,000 200,000 0
Ozl 240l s X& 200,000
Fllsg 20X 2 14,400 9,360 5,040
308 XXM S0 A 14,400 9,360 5,040
01 AXSGHBLEES 14,400 9,360 5,040
Rllsg d82J=X BE= 14,400
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M ox
40 5 4

SRR CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

| | = 75,500

ANENESY 76,739,244 79,542,589 A 2,803,345
2 66,812,960
J| 500,800
< 9,425,484

BASEHASH(XDE) 42,800,000 42,209,000 591,000
= 42,800,000

308 MtXIEHMSOIH 42,800,000 42,209,000 591,000
= 42,800,000

01 HXNHHNBHELS 42,800,000 42,209,000 591,000
OMASSEEA=H 42,800,000
= 42,800,000

gsHA=H 15,628,000 15,628,000 0
= 15,628,000

308 XXM SO0l A 15,628,000 15,628,000 0
= 15,628,000

01 IXNHHBNEES 15,628,000 15,628,000 0
OLsYA=ZH 15,628,000
= 15,628,000

XA XNERE=EAN 2,906,800 3,079,875 A 173,075
= 2,704,000
< 202,800

308 XXIEHHSOIA 2,906,800 3,079,875 A 173,075
= 2,704,000
< 202,800

01 X HHILEES 2,906,800 3,079,875 A173,075
OXHEXNIHEN ALY 2,906,800
= 2,704,000
< 202,800

SHASEMASH A2l (&) 30,000 30,000 0
J| 30,000

201 Let249] 15,000 10,000 5,000
J| 15,000

01 At 22/l 15,000 10,000 5,000
OsZASEXAXNSH AMF2el 15,000
J| 15,000

202 o4dl 15,000 20,000 25,000
J| 15,000

01 = LH o4 1l 15,000 20,000 A5,000
OsgaAsSE2dAEN EAXAE 15,000
J| 15,000

SHASEHIEM At 22l (AZ) 470,800 451,500 19,300
J| 470,800

308 XX CHAI S 0| & 470,800 451,500 19,300




BEEREE SN RISAD
M =9 WA L3
ool AYNESEY (29 & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 470,800
01 IXNHHBNEES 470,800 451,500 19,300
OSYALASEXASH At 2el 470,800
J| 470,800
H 23U X 829,650 829,650 0
308 XXIEHHSOIA 829,650 829,650 0
01 AXHHILEES 829,650 829,650 0
Ol &3l XA 829,650
=sg g2 s K& 2,200,000 2,200,000 0
308 MtXIEHMSOIH 2,200,000 2,200,000 0
01 HIXNHHBHEELS 2,200,000 2,200,000 0
O==sg 2= s XE 2,200,000
132 H 2% &X -2 262,500 262,500 0
403 Ut SHHSA=0l& 262,500 262,500 0
01 HXSHMA2EE 262,500 262,500 0
OLNSE H =Rk%E 41 - 22 262,500
EFE 0 MM sS4 194,400 194,400 0
308 XXM SO A 194,400 194,400 0
01 X HHILEES 194,400 194,400 0
OHBASA0 MATX I 194,400
= Et&2 THUH X & AL 4,216,408 8,073,164 A 3,856,756
= 3,922,240
< 294,168
308 MtXIEHMSOIH 4,216,408 8,073,164 A 3,856,756
= 3,922,240
< 294,168
01 HXNHHBHELS 4,216,408 8,073,164 A 3,856,756
O= Et&= U X & AL 4,216,408
= 3,922,240
< 294,168
SOIH A A &X 1,300,000 2,340,000 A 1,040,000
= 1,000,000
< 300,000
403 X SHHSA=0l& 1,300,000 2,340,000 A 1,040,000
= 1,000,000
= 300,000
01 HXSHMA2EE 1,300,000 2,340,000 A 1,040,000
OsJ1H LML &X 1,300,000
= 1,000,000
< 300,000
FAX L2001 H s K& 650,000 130,000 520,000
= 500,000




AR =33 SN RIS
HE: 59 FMY L
Sl AFNSSY (B9 ®R)
- — — L=
AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
= 150,000
403 XX SHHS K20 & 650,000 130,000 520,000
= 500,000
= 150,000
01 XIS A=Z2E X 650,000 130,000 520,000
OF X 2D HE XA 650,000
= 500,000
& 150,000
HEESE sI1H K& 91,000 97,500 A 6,500
= 70,000
& 21,000
403 XX SRS K 20| & 91,000 97,500 6,500
= 70,000
& 21,000
01 MXHHXE2BE =X 91,000 97,500 6,500
OWHdZZE sIH XA 91,000
= 70,000
= 21,000
SHIH SIHEX £ X 185,600 185,600 0
= 128,000
= 57,600
308 XAHXIEH SO A 185,600 185,600 0
= 128,000
= 57,600
01 AIXSHMENMNEX= 185,600 185,600 0
OsYIIH SstEX 22 1A 185,600
= 128,000
= 57,600
AsIIAHS &HH 23 300,000 300,000 0]
403 XX SHHS K20 & 300,000 300,000 0
01 XIS A=Z2E X 300,000 300,000 0
Og=sJHsS &dl 223 300,000
S&Y e MUIAMdEH 29 A& 330,000 330,000 0
308 MXISHMSOIA 330,000 330,000 0
01 AXHHIMNEXS 330,000 330,000 0
S&A e MU AMdEH 29 XS 330,000
dEtd ss294T) 23 75,600 75,600 0
403 XX SHHMS K201 A 75,600 75,600 0]
01 XS A2E X 75,600 75,600 0
OF&tH BsZAAL) B2 75,600
S OFMAIE AHl A 72,000 72,000 0
308 XX EHSOIA 72,000 72,000 0
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M ox
40 5 4

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OgetA A 2H| 15,000
203 € R F&d| 1,200 1,200 0
03 AIZH =X 2= XY 1,200 1,200 0
ORISR A2 =X 1,200
s=&=2 Mol2d X 3,000,000 2,000,000 1,000,000
308 XX SHHSOIH 3,000,000 2,000,000 1,000,000
01 X HHIMNEEXTZ 3,000,000 2,000,000 1,000,000
Os&2 Mg X& 3,000,000
S0l OtMES=E AL XSAS 78,936 0 78,936
= 60,720
&< 18,216
403 XX SHHS K20 & 78,936 0 78,936
= 60,720
& 18,216
01 XIS A2 X 78,936 0 78,936
Ofdl OfMSES ZEANAE XSAY 78,936
= 60,720
o=} 18,216
JIE2UH 2=MEXZ (2 H=2E) XN 56,250 0 56,250
403 XX SHHS K20 & 56,250 0 56,250
01 XIS A=2E X 56,250 0 56,250
OJISsid Ss=NEX(SN2E) N 56,250
Jgs XY9E&asS 583 g4 16,682,095 15,417,578 1,264,517
= 2,910,561
J| 8,357,055
o= 5,414 479
W4 DEE AMLSUHS AHE 1,624,000 1,431,150 192,850
J| 1,120,000
o= 504,000
403 XX SRS K 20| & 1,624,000 1,431,150 192,850
J| 1,120,000
=} 504,000
01 MXSHHXE2BE =X 1,624,000 1,431,150 192,850
Ol NEE ANEsUs AHY 1,624,000
J| 1,120,000
& 504,000
DWANMSMHACEL] J|BF XML A 1,235,970 2,991,000 AN 1,755,030
J| 1,149,000
= 86,970
403 XX SHHS K20 & 1,235,970 2,991,000 AN 1,755,030
J| 1,149,000
= 86,970
01 XIS AEZ2E X 1,235,970 2,991,000 A 1,755,030

_20_




o= s38= M RIsLH
M =9 WA L3
Sl DY NYSHES SF S4 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O ZMAI JIEtEH ALY 1,235,970
bl 1,149,000
< 86,970
Dt HE APCHE X2 (&) 3,295,500 0 3,295,500
J| 2,197,000
=) 1,098,500
403 MtXISHHE X201 E 3,295,500 0 3,295,500
J| 2,197,000
=) 1,098,500
01 AXISHHA2E = 3,295,500 0 3,295,500
OL=HE APCHE X & 3,295,500
J| 2,197,000
< 1,098,500
D=HE APCHEXIE (B2 990,000 2,850,000 A 1,860,000
J| 660,000
< 330,000
403 A X EHS =0l A 990,000 2,850,000 A 1,860,000
J| 660,000
< 330,000
01 X EHHMA=ZLE L 990,000 2,850,000 A 1,860,000
OL+=HE APCHE XA () 990,000
J| 660,000
< 330,000
ZSESDY DLLATE AHAY 351,000 377,000 26,000
2 270,000
= 81,000
308 XXM SO0 A 351,000 377,000 226,000
= 270,000
S 81,000
01 IXNHHBHNEES 351,000 377,000 226,000
OZsSSsSna LA TJ AMHAY 351,000
= 270,000
< 81,000
taBHE 84 315,000 315,000 0
J| 180,000
< 135,000
308 XXIEHHSOIA 315,000 315,000 0
J| 180,000
< 135,000
01 XML EES 315,000 315,000 0
OnaEsgE 84 315,000
Jl| 180,000
< 135,000
A& 20 &0 st 404,709 1,240,614 835,905
J| 279,109
< 125,600




42 =33 &
M=ol AWM L3
Sl DY NYSHES SF S4 Sl E )
2. 2A B G(E) - KR il HlnE2
403 UHXSHHSA=0l& 404,709 1,240,614 A 835,905
| 279,109
< 125,600
01 X SHMA2E X 404,709 1,240,614 A 835,905
OAZ &0l Szt 404,709
| 279,109
< 125,600
D= HIOE THHHAIE RI& 268,000 245,000 23,000
| 268,000
403 MtXISHHE X201 E 268,000 245,000 23,000
| 268,000
01 XS M A=2EE 268,000 245,000 23,000
O10F HIJt" THEHAIE K& 268,000
J| 268,000
ANEZ0 dUX0E 283 AS(E 340,561 466,711 A 126,150
= 340,561
403 UHXISH S X201 & 340,561 466,711 A 126,150
= 340,561
01 X SHHX2E= 340,561 466,711 A 126,150
OANE20 dUdXole 23 AAG(E2ZAL) 340,561
= 340,561
Ola MALAIAE S CHS 311,750 364,095 A 52,345
| 215,000
= 96,750
403 UHXSHHSA=0l& 311,750 364,095 A 52,345
| 215,000
< 96,750
01 HXSHHMA2E X 311,750 364,095 A52,345
OQlar MAAIY 3 311,750
| 215,000
< 96,750
A MAAIE SHOHSH 349,305 570,575 A221,270
| 240,900
< 108,405
403 MtXISHHE X201 & 349,305 570,575 A221,270
| 240,900
< 108,405
01 AXSHMA=2EE 349,305 570,575 A221,270
OHA MaAIE SOHE 349,305
| 240,900
< 108,405
SRHAAI RS ALY 962,000 1,391,000 A 429,000
J| 740,000
< 222,000
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BEEREE SN RISAD
M =9 WA L3
o9l JlYE USRS 58 54 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 962,000 1,391,000 A 429,000
J| 740,000
< 222,000
01 X SHMA2E X 962,000 1,391,000 A 429,000
ORI RE ALY 962,000
J| 740,000
< 222,000
ANE2U ICT 858 ot ALY 233,525 188,217 45,308
J| 161,046
< 72,479
403 MtXISHHE X201 & 233,525 188,217 45,308
J| 161,046
< 72,479
01 X SHHA2E = 233,525 188,217 45,308
OAIZ30 ICT 858 =4t ALY 233,525
J| 161,046
< 72,479
AENSMUASFNAMH HE 1,300,000 1,300,000 0
J| 1,000,000
< 300,000
403 A X EHHS =0l A 1,300,000 1,300,000 0
J| 1,000,000
< 300,000
01 X SHHMA=2LE L 1,300,000 1,300,000 0
OASHNESMUISFNAMEH HE 1,300,000
J| 1,000,000
< 300,000
dd NEEsH=2 |4 400,000 400,000 0
403 MtXSHHSA=0l& 400,000 400,000 0
01 X SHMA=E X 400,000 400,000 0
Ox&Zd NESeas |54 400,000
ZEd S FAUMLMALE B 300,000 300,000 0
403 XSS X201 & 300,000 300,000 0
01 AXISHH A2 E= 300,000 300,000 0
OZled EE JAMdLAE E5 300,000
ot B MAEH K& 300,000 300,000 0
403 XSS X201 & 300,000 300,000 0
01 X SHHX2E = 300,000 300,000 0
Oitz= AR MaEH X 300,000
ol XIFASEH 2= 91,500 91,500 0
308 A EHHSOIA 91,500 91,500 0
01 HXNHHNBMNELS 91,500 91,500 0
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- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Oeld XNESsEH 22 91,500
FoEEES sHEUH A 21,450 30,000 A 8,550
403 XX SHHS K20l A 21,450 30,000 A 8,550
01 XIS AZ2E X 21,450 30,000 A 8,550
ORNEZEE s&EUH N 21,450
WA BESA A 270,000 300,000 A 30,000
308 MXISHMSOIA 270,000 300,000 A 30,000
01 IXHHIMNEEXTZ 270,000 300, 000 A 30,000
Onas S&&A X K& 270,000
SEtE AL HEZE EEHINAL X&A 66,825 74,250 N7, 425
308 XX SHHSOIHA 66,825 74,250 NT,425
01 AIXSHMENMNEX= 66,825 74,250 NT,425
OFEA AMNEJAUEE ELSHHIMNE X 66,825
W4=20F FTA AL HE L2 R (Z) 8,000 0 8,000
J| 8,000
202 04| 8,000 0 8,000
J| 8,000
04 =M st dl 8,000 0 8,000
OFTAD I 2 ALY A& X oA 8,000
J| 8,000
W=20F FTA AL HE 2 KR (A2) 116,000 0 116,000
J| 116,000
308 AMXISHMSOIA 116,000 0 116,000
J| 116,000
01 IXHHIMNEXZ 116,000 0 116,000
OFTAA S A & =gl 22l ] 116,000
J| 116,000
hstaty 9H s&d JIE82 & 13,650 0 13,650
308 XX SHHSOIA 13,650 0 13,650
01 AIXSHMENEXZ 13,650 0 13,650
OltxgtaYy 2H s&Y JIER HE 13,650
U3atY olsa A=I|F N 90,000 0 90,000
308 XX EHSOIA 90,000 0 90,000
01 AIKSHHEMNEX= 90,000 0 90,000
Olx=saY olsa A2=5J|7 XN 90,000
=20 ADLEE SHAALY 33,350 0 33,350
J| 23,000
& 10,350
403 XX SHHS K20 & 33,350 0 33,350
J| 23,000
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NET 24 @ RIsdt
M=ol AWM L3
@ JIYE NESsHs 58 84 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 10,350
01 XM A2E X 33,350 0 33,350
Olt=20F AGLEY =oAL 33,350
J| 23,000
< 10,350
HOlQES=sAS&8 SN =4 2,990,000 0 2,990,000
= 2,300,000
= 690,000
403 XIS E X201 E 2,990,000 0 2,990,000
= 2,300,000
< 690,000
01 X SHHA2E= 2,990,000 0 2,990,000
OHOILEHsH=EE A =4 2,990,000
= 2,300,000
< 690,000
SSMAD|IBEE A 26,018,250 31,001,750 A4,983,500
= 5,967,000
< 20,051,250
B == JH & AL 4,877,000 6,526,000 A 1,649,000
= 4,877,000
402 QI2H X201 M 4,877,000 6,526,000 A 1,649,000
= 4,877,000
02 QI 2 A EZ (O TH ) 4,877,000 6,526,000 A 1,649,000
Ot &AL 4,877,000
= 4,877,000
StUTHHI =&AL 1,226,250 1,226,250 0
= 1,090,000
< 136,250
403 X SHH S0l & 1,226,250 1,226,250 0
= 1,090,000
< 136,250
01 AXSHMA2E X 1,226,250 1,226,250 0
OS2 HHI E == IH L AL 1,226,250
= 1,090,000
< 136,250
DI BHE I ALY (M EALY) 4,443,000 2,668,500 1,774,500
403 XIS S X201 & 4,443,000 2,668,500 1,774,500
01 X SHHN2E = 4,443,000 2,668,500 1,774,500
OZIIEHEHI ALY 4,443,000
e XAt (HEALY) 5,068,000 3,085,000 1,983,000
403 Mt S S X201 & 5,068,000 3,085,000 1,983,000
01 X ESHHMA=2LE L 5,068,000 3,085,000 1,983,000
oz&dXEel A 5,068,000
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o= s38= M RIsLH
HE: 59 FMY L
Sl SYMADIBEY CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
ANZ el AIEHE =AY (M EALY) 7,842,000 9,625,500 A 1,783,500
403 UHXISHHSA=0l& 7,842,000 9,625,500 A 1,783,500
01 XM= E L 7,842,000 9,625,500 A 1,783,500
OAZFelAIEHE =AY 7,842,000
A2 SN E AN (M BHAY ) 1,305,000 562,500 742,500
403 XSS A=0l& 1,305,000 562,500 742,500
01 XM A2E X 1,305,000 562,500 742,500
OS2 ==& ALY 1,305,000
It sZEII8tAI4 FHIAMY 1,000,000 1,000,000 0
403 MtXISHHE X201 & 1,000,000 1,000,000 0
01 XM A=2EE 1,000,000 1,000,000 0
OJtSUtH sE==I|EHAIE ZHIAY 1,000,000
SSMADIBEAIAE At 22| 12,000 12,000 0
202 4Hl 12,000 12,000 0
01 S LHOIYI 12,000 12,000 0
Os=HMEDEHAIE AL 2tel 12,000
272 SYAE ALY 245,000 0 245,000
403 MtXISHE X201 H 245,000 0 245,000
01 X SHHN2E = 245,000 0 245,000
OAnE SYAE A 245,000
HE2AZH (R =L 61,094 63,094 A 2,000
Jl23&dl 61,094 63,094 A 2,000
Jl2ztl 61,094 63,094 A 2,000
201 Let24d] 19,514 19,514 0
01 AP 2teltl 19,514 19,514 0
OJle=+=&Hl 7,964
OJlEs gl 11,550
202 044l 41,580 41,580 0
01 = LH o4 1l 41,580 41,580 0
OJl=0tl 41,580
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N = 0l & At & M A

=X 2N sASRSH
AHA O DNEE i ¥ES 4
NBXNES RETE R (e9: & 9)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
Ssi 16,452,685 8,296,890 8,155,795
= 3,653,570
Jl 5,251,000
= 7,548,115
AHIX O DEE St HES 4 16,416,584 8,257,882 8,158,702
= 3,653,570
J| 5,251,000
o 7,512,014
AMEXEE SEFE A 12,165,790 6,347,504 5,818,286
= 729,000
J| 4,843,000
o= 6,593,790
SAMNERERY 14,200 14,200 0
201 et 9| 13,000 13,000 0
01 AP 2t 2] d| 13,000 13,000 0]
OgBrA A= ZH| 13,000
203 R F & 1,200 1,200 0
03 AIZH =& 25 X H| 1,200 1,200 0
OdUKEsANM =& 1,200
sAE MIASEXE 0HAHE X 267,600 277,300 A 9,700
J| 237,000
& 30,600
308 XAHXIGH SO0l & 267,600 277,300 A 9,700
J| 237,000
& 30,600
01 AIKISHHENEXZ 267,600 277,300 A9,700
OsdtE MRS H HAHE X 267,600
J| 237,000
o 30,600
SiE BSEHEH K& 844,340 672,427 171,913
J| 757,000
= 87,340
308 XX SHHSOIH 844,340 672,427 171,913
J| 757,000
=} 87,340
01 AIXSHMENMNEXZ 844,340 672,427 171,913
OsdtE 2s48H X& 844,340
J| 757,000
& 87,340
HN2SEAH S (MXM2AI4) 119,400 334,620 N 215,220
J| 99,000
= 20,400
403 XX SHHS K20 & 119,400 334,620 N 215,220
J| 99,000
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M ox
40 5 4

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
= 20,400
01 XIS A=Z2E X 119,400 334,620 A 215,220
OMSREMA S (MIAMSAIE) 119,400
Jl 99,000
o= 20,400
N2SEMH s (NS5 1HE) 53,700 9,607 44,093
J| 42,000
= 11,700
403 XX SRS R 20| & 53,700 9,607 44,093
J| 42,000
& 11,700
01 MHXSHAHXNE2E X 53,700 9,607 44,093
ONM2REMA S (N2Es51HY) 53,700
J| 42,000
& 11,700
SHE MIRSAE & 250,000 250,000 0
403 XX SHHS K201 A& 250,000 250,000 0
01 XIS AS2E X 250,000 250,000 0
OsitE2 MRKRSAE AR 250,000
SHET LS NE BEUSH 29 50,000 50,000 0
201 LBt ]| 50,000 50,000 0
01 AP 22| d| 50,000 50,000 0
OsHE: 2x=sE4=2 EEXUSH 29 50,000
SSEAE T SHEDF 2HELE 6,150 6, 150 0
201 et Y| 6,150 6, 150 0
01 AP 2t 2] H| 6,150 6, 150 0
O=sS4&E Tl SHEI 29 6,150
SHNEEHEXNE SIAHAXNA 21,000 21,000 0
403 XX S M S K201 A 21,000 21,000 0]
01 XS A2E X 21,000 21,000 0
OsAMSEHEXE sJ1H K 21,000
SHE HEAH AN OHHE BHEIJ 99,000 99,000 0
308 AHXIEHMSOIA 99,000 99,000 0
01 AIXSHMENMNEX= 99,000 99,000 0
OsdE HEAH &M 0HAHE HEXJ 99,000
NESHE AUHSE MAIAHAH DF 30,000 30,000 0]
308 XHXIGHH SO0l & 30,000 30,000 0
01 AIKSHHEMNEXZ 30,000 30,000 0
OXEsatE2 AHISE MAX, AHIXF R 30,000
E= SSENME BE 175,000 231,000 A 56,000
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4= =33 SN SAERSD
M AHA 2E DEE sdtE HES 84
S AENEE RFS2E A (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OGAP St E24 XI& 538,200
= 414,000
< 124,200
AME s 2483 XA 240,000 240,000 0
= 120,000
= 120,000
307 21201 A 240,000 240,000 0
= 120,000
< 120,000
02 QB AANHFEX 240,000 240,000 0
OAdg w=s 243 XA 240,000
= 120,000
< 120,000
SASANEAH AL 30,000 30,000 0
= 15,000
< 15,000
307 21201 A 30,000 30,000 0
= 15,000
< 15,000
02 It S AIHE L 30,000 30,000 0
O=sal3 ANLEAH AL 30,000
= 15,000
< 15,000
H M=ol 2 tE XIAHY 3,060,000 3,060,000 0
308 XX EHHSOIA 3,060,000 3,060,000 0
01 HIXNHHBNEES 3,060,000 3,060,000 0
Ol THHH =l BSEHE X2 At 3,060,000
S DYt HA 23 ALY 180,000 100,000 80,000
= 90,000
< 90,000
307 21201 A 180,000 100,000 80,000
= 90,000
< 90,000
02 QB AANHEX 180,000 100,000 80,000
Osgu I 28 Al Zst At Y 180,000
= 90,000
< 90,000
s&E M4ASSAE HE* 20,000 0 20,000
403 A X EHHS =0l A 20,000 0 20,000
01 X HHMAZE L 20,000 0 20,000
Osdts 4XNRSAE HE = 20,000
sS&E MR SHE A8 5,307,000 0 5,307,000
J| 3,708,000
=) 1,599,000

_30_




ANEXEE REFE HA (cho &)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
403 UHXSHHSA=0l& 5,307,000 0 5,307,000
| 3,708,000
< 1,599,000
01 X SHMA2E X 5,307,000 0 5,307,000
OsttE ¢NKRsSHH A8 5,307,000
| 3,708,000
< 1,599,000
el =2MAH =5 2L N 21,000 0 21,000
201 LBt2E| 19,300 0 19,300
01 At 22l 16,000 0 16,000
o=zg=¢ 12,000
OJIEt =&Hl 4,000
03 A2 Z Hl 3,300 0 3,300
O%Hel =&MHA =5 A3IE 3,300
301 LA F 1,700 0 1,700
09 #HALAHIXI &3 1,700 0 1,700
Og%el =&MAH = |A3AE 1,700
S8 SUSAXALE A8 NI (HSAIS) 465,000 0 465,000
403 UHXSHHSA=0l& 465,000 0 465,000
01 HXHMA=E X 465,000 0 465,000
O=38 su3AMXNJAMH A8 XA 465,000
stnga 32 NJANE EZAE 42,000 0 42,000
403 MtXISHHES A0l & 42,000 0 42,000
01 HXSHMA=2E X 42,000 0 42,000
Ostnzaa 23 NIAANE E2AY 42,000
NAH et Z2Hole == X2I| FF 390,000 390,000 0
s&E =5 |4 315,000 315,000 0
403 MtXISHH S0l & 315,000 315,000 0
01 XM A=2EE 315,000 315,000 0
OsttE =i |4 315,000
T=ESAE IHSSE ALEESU 75,000 75,000 0
403 A X EHHS =0l A 75,000 75,000 0
01 X SHHA2E= 75,000 75,000 0
Ox=&sAE I33F ANEEUs 75,000
d= 05 T3 MAEBHE 54 3,860,794 1,520,378 2,340,416
= 2,924,570
| 408,000
< 528,224
RPC B X - HEAE S4 529,000 370,000 159,000
= 460,000




42 533 2N SAERED
B AGT OE DBE S42 YEH S4
el d= 285 3 IIREME 84 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 69,000
403 MtXISHHSA=0l& 529,000 370,000 159,000
= 460,000
< 69,000
01 XM A=2E X 529,000 370,000 159,000
ORPC B A= . MEALE B4 529,000
= 460,000
< 69,000
=2 dEF E2EH2 29 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 QB AANGFEX 20,000 20,000 0
OE= NSF 2. B2 29 20,000
ASAM B3 ed |4 468,000 273,000 195,000
J| 360,000
< 108,000
403 MHXISHE X201 H 468,000 273,000 195,000
J| 360,000
< 108,000
01 X EHHMA=ZLE L 468,000 273,000 195,000
OASATH & B34y s4 468,000
J| 360,000
< 108,000
Nees HEF 243 X2 13,824 13,824 0
308 XX EHHSOIA 13,824 13,824 0
01 HIXNHHBNEES 13,824 13,824 0
OXgex ds= 243 N 13,824
=W ASHEAS Ot XA 33,000 33,000 0
308 XXM SOIA 33,000 33,000 0
01 XML EES 33,000 33,000 0
O=2U als &A= &It K& 33,000
Rz (2y) 23,800 23,800 0
= 23,800
201 Let24d]| 13,800 13,800 0
= 13,800
01 At 2teltl 13,800 13,800 0
Oogd=2zel 23l 13,800
= 13,800
202 O4dl 10,000 10,000 0
= 10,000
01 = LH 4 Hi 10,000 10,000 0
o3zl gR=x2 10,000
= 10,000
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AETICEE SN SAERED
M AHA 2E DEE sdtE HES 84
O9: m OF FE MIYSUE sS4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FRLz e (AZ) 970,770 657,754 313,016
= 970,770
308 AHAIEHHSOIA 970,770 657,754 313,016
= 970,770
01 HXNHHBHELS 970,770 657,754 313,016
oF=L=2(AMZ) 51,200
= 51,200
O=XE & =it 919,570
= 919,570
ROt 2X2H ALY 62,400 0 62,400
J| 48,000
< 14,400
308 XX EHHSOIA 62,400 0 62,400
J| 48,000
< 14,400
01 HXNHHBHELS 62,400 0 62,400
OO0t LdXF ALY 62,400
J| 48,000
< 14,400
RPC H&AIE HE = 429,000 0 429,000
= 330,000
S 99,000
403 XSS =0l & 429,000 0 429,000
= 330,000
< 99,000
01 X SHMA2E X 429,000 0 429,000
ORPC BEAIA HE = 429,000
= 330,000
= 99,000
NSE 4 SHE JISAE e 1,311,000 0 1,311,000
= 1,140,000
< 171,000
403 MtXISHHE X201 E 1,311,000 0 1,311,000
= 1,140,000
< 171,000
01 X SHHAN2E = 1,311,000 0 1,311,000
OLNZE & B#HE JIZAE s2st 1,311,000
= 1,140,000
< 171,000
HH2LAIH (SAEREL) 36,101 39,008 A 2,907
Jl23dl 36,101 39,008 A 2,907
Jl2zl 36,101 36,308 A 207
201 et 11,531 11,597 A 66
01 At 22l 11,531 11,597 A 66
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N = 0l & At & M A

AETICEE SN ESMD
Hu: ENY BYOH
Sl B AW s CEEEED
- _ _ RE]
SEA BB (EH) - AEAY - BAS Ofl At o4 %Eﬁ HR=2
i 22,801,065 20,974,935 1,826,130
=2 4,290,465
Jl 9,684,572
& 8,826,028
A HAHOHH 16,628,088 13,292,657 3,335,431
= 89,280
Jl 9,684,572
o 6,854,236
A AHM A5 7,524,336 5,517,660 2,006,676
J| 4,904,059
o 2,620,277
SN0 29 16,200 16,200 0
201 et 9| 15,000 15,000 0
01 AP 2t 2] H| 15,000 15,000 0
OgBrA A= ZH| 15,000
203 SR F & 1,200 1,200 0
03 AIZH =& 2= X H| 1,200 1,200 0
OZ2MYAH XX 1,200
SR FMHE ASAY 504,675 488,975 15,700
307 2iz2to| A 40,000 40,000 0
04 QIZ2HSHALALS B = 40,000 40,000 0
OFN0 stOtSH=sUHs X 10,000
OstAXMHE M=l 20,000
OFAaHEA M HE 10,000
308 ANXISHHMSOIA 464,675 448 975 15,700
01 IXHHIMNEXZ 464,675 448 975 15,700
O&= giz=AMNS8UHa X 20,000
OsteAMa A3 (NS )AL 349,350
OSO0FXI A OFAE I AF 27,000
Ox=3et 0l&aAlzs=E X 14,625
OS82 HHAN==2 X 16,200
Oste N2 MM 37,500
XNs& WHIAIDl &X21 X 28,800 0 28,800
308 XHXIEHSOIA 28,800 0 28,800
01 AIXSHMEMNEX= 28,800 0 28,800
OXsg WHiAIDl &€X2 X& 28,800
FEAE SUHSHERZOHAIAE) 20,250 0 20,250
403 XX SHHS K20 & 20,250 0 20,250
01 XIS A=Z2E X 20,250 0 20,250
OII=EANZ SUHSHAEXZOHAI A 20,250
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A3 33 M 1S40
Hu: ENY BYOH
Sl B AW s CEEEED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
NAZME 2UFALY 283,900 126,400 157,500
308 XAHXIEHSOIA 126,400 126,400 0
01 AIXSHMENEX= 126,400 126,400 0
OXA BMA USH(HEF)ALY 126,400
403 XX SHHS K20 & 157,500 0 157,500
01 XIS A=Z2E X 157,500 0 157,500
O848 NE2Z2F Hax=HM2lAE & 157,500
ELmEcE=F= PN} 1,980, 167 2,041,409 NB1,242
J| 1,650,139
= 330,028
308 MXISHMSOIA 1,980, 167 2,041,409 NB1,242
J| 1,650,139
= 330,028
01 HXHHIMNEEXTZ 1,980,167 2,041,409 NB1,242
Ostneaa I 1,980,167
J| 1,650,139
== 330,028
st SOIME K& 281,844 359,676 NTT,832
J| 202,920
= 78,924
308 AXIEHSOIA 281,844 359,676 NTT,832
Jl 202,920
= 78,924
01 AIXSHMENMNEX= 281,844 359,676 NTT,832
OstMs0IME K& 281,844
J| 202,920
=} 78,924
4L ICT 228 AIYE 3,600,000 1,620,000 1,980,000
J| 3,000,000
& 600,000
403 XX SHHS K20 & 3,600,000 1,620,000 1,980,000
J| 3,000,000
& 600,000
01 XIS A=2E X 3,600,000 1,620,000 1,980,000
OF4 ICT 85& MY 3,600,000
Jl 3,000,000
== 600,000
IIETale s 600,000 600,000 0
308 XX SHHSOIH 600,000 600,000 0
01 IXHHIMNEEXTZ 600,000 600,000 0
OJI =Ml 600,000
JIE HAFM Meldl X& 135,000 135,000 0
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M ox
40 5 4

o

=R SN BN
Ao FYorH
aret ZEe 2t

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
403 XX SHHS K20 & 135,000 135,000 0
01 AIXISHHMA=Z2E X 135,000 135,000 0
OJIE HAMM ™l X 135,000
sEZ S0 243 64,500 0 64,500
J| 51,000
& 13,500
308 XAHXIGHH SO0l & 64,500 0 64,500
J| 51,000
& 13,500
01 AIKISHHENEXZ 64,500 0 64,500
Oss23d 50 g¢45 64,500
Jl 51,000
= 13,500
SEHE A EATH M 9,000 0 9,000
307 2I2t0| ™ 9,000 0 9,000
02 QI2tAMAIE E =X 9,000 0 9,000
Oseral A TEH MZE 9,000
EEHZ=A DB X4 7,698,190 6,356, 120 1,342,070
J| 4,429,400
= 3,268,790
EMHEIGAEX B2 20,160 20,160 0
308 XX SHHSOIH 20,160 20,160 0]
01 AIXSHMEMNEX= 20,160 20,160 0
OFMNHEIGFEX B2 20,160
IIsNMIM 23 100,000 100,000 0
308 XX EHSOIA 100,000 100,000 0
01 AIKISHHEMNEX= 100,000 100,000 0
OJI=sMZM =23 100,000
EE SMsI |4 43,740 48,600 A4 ,860
308 XAHXIGH SO0l & 43,740 48,600 AN 4,860
01 AXHHNIMNEXTS 43,740 48,600 A4 ,860
OBAEMNE AZEI S 43,740
S ANAIE SHIMNS 583,420 518,800 64,620
308 MXISHMSOIA 25,920 28,800 A2,880
01 IXHHINMNEEXTZ 25,920 28,800 A 2,880
OWXDIIEE sa & 25,920
403 XX SHHS K20 & 557,500 490,000 67,500
01 XIS A2 X 557,500 490,000 67,500
OXESAHAEA AIEEH B2 400,000
OJI=sE5 el &#H 22 90,000
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SN B CH(HN) - MM - BES il HDEZ

OJNEEs DsLSI N 67,500

EHE=E RSXE 37,800 0 37,800

308 XXM SOl A 37,800 0 37,800

01 AXHHBLEES 37,800 0 37,800
O&ldl g5 &M X& 37,800

=25 Eddls XA 169,000 270,750 A 101,750
J| 169,000

403 A X EHHS =0l A 169,000 270,750 A 101,750
J| 169,000

01 AXISHHA 2L = 169,000 270,750 A 101,750
OJ=&x El%Hls XA 169,000
J| 169,000

=2h ZaHE=s XA 100,000 185,500 A 85,500
J| 100,000

403 A X EHS =0l A 100,000 185,500 A 85,500
J| 100,000

01 HXSHHG=EE 100,000 185,500 A 85,500
OJ=EEx F3HE= XA 100,000
J| 100,000

=20 AdFHNS 62,500 0 62,500
J| 62,500

403 TtXI S SA=01A 62,500 0 62,500
J| 62,500

TAXEH A= X 62,500 0 62,500
ON=E: 4N 62,500
J| 62,500

ICT &4H=H JIHEH XI& 148,960 117,600 31,360
J| 121,600
< 27,360

403 A X EHHS =0l A 148,960 117,600 31,360
J| 121,600
& 27,360

01 AXISHHA =L = 148,960 117,600 31,360
OICT 4H=F JIAHEH X 148,960
J| 121,600
< 27,360

ZFAFMAFOPA ,609,000 0 1,609,000
J| ,238,000
= 371,000

403 A X EHS =0l A ,609,000 0 1,609,000
J| ,238,000
=) 371,000
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4= sy= SN BT
HE: 249 FHOH
Sl AEFBA OB X4 (B9 ®R)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
01 HXSHMA2E X 1,609,000 0 1,609,000
OFGF LA FHIHE ALY 1,609,000
| 1,238,000
< 371,000
S+ YHIRSdH XA 180,000 0 180,000
| 120,000
< 60,000
403 MHXISHE X201 & 180,000 0 180,000
| 120,000
< 60,000
01 X SHHN2E = 180,000 0 180,000
O%f%+ dHRSHH XA 180,000
| 120,000
S 60,000
Y| & EZHl K& 212,800 241,000 228,200
J| 212,800
308 XX EHH SOl A 212,800 241,000 A 28,200
| 212,800
01 AXSHBLELS 212,800 241,000 A 28,200
Oyl &=yl XA 212,800
| 212,800
gyl &2 H| XI& 91,200 0 91,200
| 91,200
308 XXM S0 A 91,200 0 91,200
| 91,200
01 AXNSHHBLEES 91,200 0 91,200
Elgl &2yl XI& 91,200
J| 91,200
Y| = EHED| 15,000 0 15,000
| 15,000
403 MtXISHE X201 E 15,000 0 15,000
| 15,000
01 X SHHAN2Ex 15,000 0 15,000
O%Hl =% A 15,000
| 15,000
s HEXA 154,500 0 154,500
J| 154,500
403 A X EHHSH20IA 154,500 0 154,500
J| 154,500
01 X EHHMA=ZLE L 154,500 0 154,500
OElH®=: BHIXA 154,500
| 154,500
OHH| M ALAIE A X 162,400 261,100 A 98,700
| 92,800
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4= sy= SN BT
HE: 249 FHOH
Helr EIFL DI &4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 69,600
403 MtXISHHSA=0l& 162,400 261,100 A 98,700
J| 92,800
< 69,600
01 XM A=2E X 162,400 261,100 A 98,700
OMH| MAAIE AX 162,400
J| 92,800
< 69,600
dHH FSE s 64,800 64,800 0
308 XXIELHSOIA 64,800 64,800 0
01 AXHHBYEES 64,800 64,800 0
OUHIMEX JtZEL L€sH 3= 64,800
SSNESAIE HE =+ 245,000 220,500 24,500
J| 200,000
< 45,000
403 A X EHS =0l A 245,000 220,500 24,500
J| 200,000
< 45,000
01 X EHHMA=ZLE L 245,000 220,500 24,500
OSSAASAE HE= K& 245,000
J| 200,000
< 45,000
AL A DjgtEtE ALY 443,410 507,410 A 64,000
308 XX EHHSOIA 187,450 151,450 36,000
01 HIXNHHBNEES 187,450 151,450 36,000
O%ZEHMeldl(HE) X& 100,000
Oz ZEM X 51,450
Odwz iz OI8XN& 36,000
403 MtXISHHE X201 & 255,960 355,960 A 100,000
01 XM A=2EE 255,960 355,960 100,000
OXAE +==Zdl X& 228,960
OZAZ JI3AE B2 27,000
A EIXI (222100 R X b 1,920,000 2,464,000 544,000
J| 1,200,000
= 720,000
308 XXM SO0l A 1,920,000 2,464,000 A 544,000
J| 1,200,000
< 720,000
01 IXNHHBNEES 1,920,000 2,464,000 A 544,000
OAdelX(g290l) M=t 1,920,000
J| 1,200,000
< 720,000
ZAE ZEH HH X2 85,500 85,500 0
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A3 33 M 1S40
Hu: ENY BYOH
ool MBYEL OB Ty (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 45,000
< 40,500
403 X SHHS =0l & 85,500 85,500 0
J| 45,000
< 40,500
01 XM A2E X 85,500 85,500 0
OZAt2 BgH &ZHl XA 85,500
J| 45,000
< 40,500
IME SE 22 N 10,400 10,400 0
J| 8,000
< 2,400
308 XtXIEHH SOl A 10,400 10,400 0
J| 8,000
< 2,400
01 X HHILEES 10,400 10,400 0
OXAE S22 XN& 10,400
J| 8,000
< 2,400
ANEHE SN 838,600 840,000 A 1,400
J| 599,000
< 239,600
308 A EHHSOIA 838,600 840,000 A 1,400
J| 599,000
< 239,600
01 HXNHHNBHEES 838,600 840,000 A1,400
OAMzZE BSXUH 838,600
J| 599,000
< 239,600
OHOZdlol& CHaY 400,000 400,000 0
308 XXM SO0 A 400,000 400,000 0
01 IXNHHBNEES 400,000 400,000 0
OAZHE MAXH 400,000
M AHUS U REIIP HE 405,547 375, 102 30,445
J| 258,113
L3 147,434
Si2 fSIIE &= 70,000 65,000 5,000
307 21201 A 70,000 65,000 5,000
04 QIZFHALAIH B = 70,000 50,000 20,000
Os= 8g EdEd =AM 50,000
Ostgl= 42 EHE HAEYE FIOHXE 20,000
2 DI1012 M (A ELEY) 335,547 310,102 25,445
J| 258,113
= 77,434




AETICEE SN ESMD
Hu: ENY BYOH
SRl OMSAS Y RSIIB HE EERED
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Ei HR=2
308 XHXIEHSO|A 335,547 310, 102 25,445
J| 258,113
= 77,434
01 AIXSHMEMNEX= 335,547 310, 102 25,445
OADI0EM(HEE=H|) 335,547
J| 258,113
o= 77,434
AMNEE FAD|EH- SEEX A =4 1,000,015 1,043,775 N43,760
= 89,280
J| 93,000
= 817,735
ASAHE B4 348,500 366,500 A 18,000
308 XHXIGH SO0l & 294,500 285,500 9,000
01 AIKSHHENEXZ 294 500 285,500 9,000
Og2Ae M A3 278,000
OLdE=I sAollsH 22 7,500
Os= &30tz X 9,000
403 XX S M S K201 & 54,000 81,000 A 27,000
01 MHXSHHE2BE = 54,000 81,000 A 27,000
OYx=s MMZ2 Ml &dl X 54,000
ASHZE FEHSAMY 18,000 2,500 15,500
= 18,000
308 XX SHHSOIH 18,000 2,500 15,500
= 18,000
01 AIXSHMENMNEX= 18,000 2,500 15,500
OUESHE FBHZ2AY 18,000
= 18,000
ESY SHAIY 66,300 40,625 25,675
J| 51,000
& 15,300
308 XX SHHSOIH 66,300 40,625 25,675
J| 51,000
o= 15,300
01 AIXSHMENMNEXZ 66,300 40,625 25,675
OES=Y EHAIY 66,300
J| 51,000
& 15,300
StHE[X| & Y| XS AIS 15,597 0 15,597
J| 12,000
= 3,597
403 XX SHHS K20 & 15,597 0 15,597
J| 12,000
= 3,597
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4= sy= SN BT
HE: 249 FHOH
S AEE S48 - SESX 6A =4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 15,597 0 15,597
OZLEXEH XA 15,597
J| 12,000
< 3,597
=SS ALY 69,000 129,000 A 60,000
308 XXM SOIA 69,000 129,000 A 60,000
01 AXHHBLEES 69,000 129,000 260,000
OLsE HA HYIN =53 60,000
OMS HE(2+H) ALE 9,000
eIz ESMY 30,000 30,000 0
J| 30,000
308 XX EHH SOl 30,000 30,000 0
J| 30,000
01 HIXNHHBNEES 30,000 30,000 0
O*=Z= stE= 30,000
J| 30,000
SAAE SUHS ALY 120,000 120,000 0
403 UtXISHE X201 E 120,000 120,000 0
01 XM A=2EE 120,000 120,000 0
OJFE JIZFHs HSANE(22MA)XE 120,000
SE25A & A48 34,300 0 34,300
= 28,000
< 6,300
308 XtXIEHH SOl A 34,300 0 34,300
= 28,000
< 6,300
01 HXNHHNBHELS 34,300 0 34,300
Os==X o5 A48 K& 34,300
= 28,000
< 6,300
s=2 3. 57X 134,100 125,000 9,100
308 XX EHSOIA 134,100 125,000 9,100
01 HIXNHHNBMNEES 134,100 125,000 9,100
S22 USMY =M 45,000
O=sE234dH 29 89,100
2020 Sd3AY XE 32,736 19,500 13,236
= 14,880
< 17,856
308 AAIEHHSOIA 32,736 19,500 13,236
= 14,880
< 17,856
01 HXNHHNBMNELS 32,736 19,500 13,236
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42 =32 S R
Hu: ENY BYOH
Selr AT FADIE - S2EX KA X4 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OZ20l SHsAE X 32,736
= 14,880
< 17,856
7 RIS L2 HS N 62,482 86,650 A24,168
= 28,400
= 34,082
308 XXM SOIA 62,482 86,650 A24,168
= 28,400
< 34,082
01 X HHBILEES 62,482 86,650 A24,168
RIs=S Y2HE NA 30,624
= 13,920
< 16,704
ORJlsE 7, B3 HIE XA 31,858
= 14,480
< 17,378
=234y ZHA 25 69,000 69,000 0
308 XXM SO0 A 24,000 24,000 0
01 IXNHHBNEES 24,000 24,000 0
O=2&Ms 8209 24 15,000
O=Z& RaAgt 24X A 9,000
403 Ut SHHSA=0l& 45,000 45,000 0
01 HXSHMA2E X 45,000 45,000 0
O=23 ANF -t Algdtl X& 45,000
=20 2435t 6,027,572 7,541,900 21,514,328
= 4,201,185
< 1,826,387
=2 g s4 6,027,572 7,541,900 A 1,514,328
= 4,201,185
< 1,826,387
L= QIS attE &X 202,100 344,000 A 141,900
= 188,000
< 14,100
403 UtXISHH S =0l & 202,100 344,000 A 141,900
= 188,000
< 14,100
01 AXISHHA=2E = 202,100 344,000 A 141,900
OU=2 e itetd &X 202,100
= 188,000
< 14,100
SUSHHY YR (HEAY) 315,000 315,000 0
308 XX EHHSOIA 315,000 315,000 0
01 AXHHILEES 315,000 315,000 0
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42 533 SN ERAD
HE: 420/ Ba5
Sl L2 oY S4 (B9 ®R)
- — — L=
oSN (BH) - NEAY - B Ol At o ﬁlgﬁ HRE2
= 36,000
403 XX SHHS K20 & 186,000 62,000 124,000
= 150,000
= 36,000
01 XIS A=Z2E X 186,000 62,000 124,000
oxgzeog g4 186,000
= 150,000
& 36,000
SE M=Kl AN A 1,111,500 838,500 273,000
= 855,000
& 256,500
403 XX SRS K 20| & 1,111,500 838,500 273,000
= 855,000
& 256,500
01 MXHHXE2BE =X 1,111,500 838,500 273,000
S5 M=K ANag AL 1,111,500
= 855,000
=} 256,500
W= ADIE QA A|HSHI] =4 3,000,000 3,000,000 0
= 2,500,000
& 500,000
403 XX SRS K20 & 3,000,000 3,000,000 0
= 2,500,000
& 500,000
01 XHHE2E =X 3,000,000 3,000,000 0
OU==™H ADNEAA A|HAX XM 3,000,000
= 2,500,000
= 500,000
SMNE X4 Y BEs2e 130,000 130,000 0
201 et d| 10,000 10,000 0
01 AFR 2t 2| bl 10,000 10,000 0
OSEHHY 28X Y 42 |AMX B2 10,000
308 AHXIEHSOIA 120,000 120,000 0
01 AIKSHHEMNEXZ 120,000 120,000 0
OEZS0 HEMA I 60,000
OESHE XY &¢xs XA 30,000
O™ MEfH wBtHES 2 30,000
HE =3NS 7,801 0 7,801
= 7,185
= 616
308 XNXIGHMSO0lI& 7,801 0 7,801
= 7,185
& 616
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42 533 !
HE: 420/ Ba5
el LP 0l 84 SRED)
2 - 4
AR SN FH - S(EA) - A e 2
01 HIXNHHNBHNEES 7,801 0 7,801
O&FY HEZ3 XA 7,801
= 7,185
< 616
HEAWN=Z A (#FHl) 1,200 0 1,200
= 1,000
< 200
308 XXIEHH SOl A 1,200 0 1,200
= 1,000
< 200
01 AXHHILEES 1,200 0 1,200
OBE HEZHNY BH2Y 1,200
= 1,000
= 200
AT HALOL XM 2ldl (] 21,000 0 21,000
403 A X EHHS 20l A 21,000 0 21,000
01 X EHHMA=E L 21,000 0 21,000
OAE HAMAH Heldl(Hl 21,000
HY2FZH (F4=410H) 43,905 38,878 5,027
Jl= &l 43,905 38,878 5,027
Jl=dl 43,905 38,878 5,027
201 Let24d] 13,305 12,418 887
01 At 22/l 13,305 12,418 887
OJle=+=&Hl 5,430
OPIE=1i:] 7,875
202 44l 28,350 26,460 1,890
01 S LHOIYI 28,350 26,460 1,890
OJlEul 28,350
405 XHobF S HI 2,250 0 2,250
01 AL EZFH S 2,250 0 2,250
OAMS & o Xt 2,250
WS (410 101,500 101,500 0
WEHHX S 101,500 101,500 0
LHEHeH X = 101,500 101,500 0
705 ==& cl 34 101,500 101,500 0
04 Al - EXNSGHEIS0H==2 101,500 101,500 0
O=xttAZ 4 HE 101,500
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o

Al

s&8=3 e}
IEEEY ZH
2Ot AAIY =& =R RESECD)
S .SA S (BH) - A ﬁlgg HDS2
A , 754,017 17,786,510 3,967,507
= , 752,359
Dl ,960,083
& ,041,575
SdEY HAES ,876,827 15,238,920 3,637,907
= ,612,609
Jl ,402,603
o= ,861,615
2L AAY =& , 142,005 13,806, 468 3,335,537
=2 612,609
Dl ,402,603
o= , 126,793
=AY oY L BRNAEE 2 257,687 3,562,645 695,042
= ,191,132
o= 66,555
308 XX S M SO0l & 4,257,687 3,562,645 695,042
= 4,191,132
& 66,555
01 AXHNBAMNEXZ ,257,687 3,562,645 695,042
OJtzgs Jiusy 9.750
2 7.500
< 2,250
O Wg=AF & 2,449,982
= 2,449,982
O &I GPS S LD = 66,300
= 51,000
= 15,300
OFAMXe SEM 29 212,355
= 163,350
o= 49,005
O B24dety ¢ 308, 100
= 308, 100
OYXARHEE XNEZXS AMH 15,000
= 15,000
OJasIt 2y e 21,000
= 21,000
O AED| sSLH XA 79,200
= 79,200
OsSHxzA2dE ¢ & 1,096,000
= 1,096,000
FHSE AL XA 4,207,748 2,711,824 1,495,924
= 3,998,477
& 209,271
308 XX S M SO0l & 4,207,748 2,711,824 1,495,924
= ,998,477
o= 209,271
01 AXHNBMNEXZ ,207,748 2,711,824 1,495,924
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s8= AR
HEHIY B3
2ot A =& SR
= _ - 4 &
FRA BB GABA) - MRAY - BES e HI D52
OFHS olgesa 2 AA 3,214,117
= 3,214,117
OZHMS HLES A= 672,841
= 517,570
= 165,271
OFMY #AZEs 23M X3 86,790
= 86,790
OgA Z&H & ESAl=H N 234,000
= 180,000
= 54,000
b= S X A= 22 660,000 1,240,000 A580,000
= 480,000
< 180,000
308 Xt &M S 01 A 660,000 1,240,000 A580,000
= 480,000
< 180,000
01 HAHHZBEEES 660,000 1,240,000 A580,000
OJt= HEX Ar=2eldl X& 80,000
= 80,000
OJ=E =X ¢=2=4 580,000
= 400,000
< 180,000
IIEMB ANV EE YA 01 X 1,663,900 1,091,800 572,100
) 998,340
=S 665,560
307 212t0l & 1,663,900 1,091,800 572,100
Jl 998,340
= 665,560
03 AAHHEI2IHEX 1,663,900 1,091,800 572,100
ONEAMLANEZR 2 1,663,900
Jl 998,340
LS 665,560
SSYMNe =29 984,870 954,999 29,871
Il 897,263
= 87,607
308 XXM SO0IM 984,870 954,999 29,871
Il 897,263
< 87,607
01 XM BaE2ES 984,870 954,999 29,871
OssgHd a2yl 525,640
Jl 438,033
£ 87,607
O=sgHe 2d4 459,230
Il 459,230
HXEEYS 3,357,000 3,357,000 0
= 2,984,000
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A= =32 SN sEYAD
Ha: JlENEY I
Sol R oAY =W (e9: & 9)
- _ — d =
SN P SAGEH) - HRAY - BYS e HlDE2
< 373,000
308 XXM SO A 3,357,000 3,357,000 0
= 2,984,000
< 373,000
01 IXNHHBNEES ,357,000 3,357,000 0
OaXe 243 3,357,000
=2 2,984,000
< 373,000
FEZYEISEE ANEAY 126,000 90,000 36,000
308 XXIELHSOIA 126,000 90,000 36,000
01 AXHHBYEES 126,000 90,000 36,000
OJ=2dY Ns:2E 126,000
Axeg & 2E IMEH s XN ,225,700 143,000 1,082,700
= 959,000
< 266,700
403 A X EHS =0l A ,225,700 143,000 1,082,700
2 959,000
< 266,700
01 X EHHMA=ZLE L ,225,700 143,000 1,082,700
OAx=xE XA 40,000
= 40,000
Onsdaxtg X3 30,000
= 30,000
ONHE HMELSAE &X , 123,200
= 864,000
< 259,200
OJ}=dgY HLE =588 =8 N 32,500
= 25,000
< 7,500
CCTV S welolmet X2 659,100 655,200 3,900
J| 507,000
< 152,100
403 XIS E X201 & 659,100 655,200 3,900
J| 507,000
< 152,100
01 X SHHAN2E= 659,100 655,200 3,900
OCCTV & gHol=Zet X3 659,100
J| 507,000
< 152,100
d4g8E ol 2el , 734,822 1,432,452 302,370
FEZCIOEHAIEE Ol &AL 45,900 0 45,900
308 MXIEHMSOIH 45,900 0 45,900
01 HXNHHBHEELS 45,900 0 45,900
OOLZ2IJIHXI S E Ol AL 45,900
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M ox
40 5 4

It g9 ¥33%
DOtEAgY oy &el

2.2A BB (3) - KRA il HlnE2

THSE & 363,200 335,600 27,600

201 £B-2d| 11,600 11,600 0

01 At 22l 11,600 11,600 0
OINEHLAEEE HE B3 3,000

OFHME, AZRUERAUL) SEAHARY

= &l 1,600
Ogera a2l 7,000

203 YR =] 1,200 0 1,200

03 A FA A2 Z=AY| 1,200 0 1,200
OSSYAANMEX 1,200

308 XXM SO0 A 318,000 288,000 30,000

01 HIXNHHBNEES 318,000 288,000 30,000
OFHY LIS 2stAd 318,000

403 XIS EA201 & 32,400 36,000 A 3,600

01 *XSHMA=2EE 32,400 36,000 A 3,600
OSAUE EAEY, ARALASAIE & 32,400

ITRUERAUIL YA 677,612 569,612 108,000

308 XtXIEHH SOl A 637,112 529,112 108,000

01 HXNHHBHELS 637,112 529,112 108,000
O2cl Al Ol St 64,112
OAl EXJIM K& 573,000

403 XSS X201 & 40,500 40,500 0

01 X SHMA2E X 40,500 40,500 0
OAl ol ZAAA e 40,500

sddligt 25 290,700 219,180 71,520

308 XXM SO0 A 248,700 177,180 71,520

01 AXSGHBLELS 248,700 177,180 71,520
Oax=sdsE & 7¢ 73,500
OZF=2A A &Sk 132,000
ONHE NMELSAIE 234 X 43,200

403 MtXSHHS A= 0l& 42,000 42,000 0

01 HIXSHMA2E X 42,000 42,000 0
Os&sg+ Asas) 4 42,000

=2 IIEdgY 2H 355,410 306,060 49,350

308 XXM S0l A 355,410 306,060 49,350

01 IXNHHBANEES 355,410 306,060 49,350
OL EA8 8 JH3E BEF 66,000
OXRABAZN A&8E AL 32,400




A= =32 SN sEYAD
Ha: JlENEY I
Sl JIEFYY ol 22 CERED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Ei HR=2
O%E MY YA 60,750
OgEa 23018 g 22 25,440
OH MY AL 78,870
OUs &Y gAY 39,000
O2FMMHE 2Y oA 52,950
ESAAIZ Al 2,000 2,000 0
206 M = Hl 2,000 2,000 0
01 X2 H| 2,000 2,000 0
Os28 43 =M= 2,000
= ASE oFN 22 ,838,312 ,505,712 332,600
= 139,750
J| ,557,480
= , 141,082
Ot MH S L REI|E &= ,838,312 ,505,712 332,600
= 139,750
J| ,557,480
= , 141,082
SEHAE Qol4d] A& ,416,600 ,260,500 156, 100
J| , 449,960
& 966,640
307 giztol A ,416,600 ,260,500 156, 100
J| 1,449,960
& 966,640
03 IZIHEHESIHIEX ,416,600 ,260,500 156, 100
OEEHAE o1AHdl XS ,416,600
J| ,449,960
o 966,640
E=ME HACCP HAEE XIS (M ACHA) 131,712 131,712 0]
J| 107,520
o= 24,192
308 XX SHAHSOIH 131,712 131,712 0
J| 107,520
= 24,192
01 AIXSHMENMNEXZ 131,712 131,712 0
OS2 HACCP HAAEE XIS (MAFSHA) 131,712
J| 107,520
& 24,192
Het A X2 175,500 0 175,500
= 135,000
& 40,500
403 XX SHHS K20 & 175,500 0 175,500
= 135,000
== 40,500
01 XIS AE2E X 175,500 0 175,500
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